Section : General Intelligence and Reasoning
.

Ans

Ans

o1 How many triangles are there in the given figure?

« 1 11

given pair of words.

Horses : Neigh
J 1. Ducks : Quack
x 2. Parrots : Bray

x 3. Hares : Boom

x 4. Pigs : Buzz

Question ID : 81616113938
Status : Answered

Chosen Option : 1

Q.2 Select the option in which the words share the same relationship as that shared by the

Question ID : 81616113318
Status : Answered

Chosen Option : 1
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The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Q.3

Ans

Question ID 81616113336
Status Answered

Chosen Option3

Q.4 Four words have been given, out of which three are alike in some manner and one is different. Select the
word that is different.

Ans X1 Intelligence
4 2. Weight
X 3. Aptitude

X 4. Memory

Question ID 81616113922
Status Answered

Chosen Option2
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Ans

Ans

Q.5 Read the given statements and conclusions carefully. Assuming that the information given in the

statements is true, even if it appears to be at variance with commonly known facts, decide which of

the given conclusions logically follow(s) from the statents.

Statements:
All polygons are angles.

All angles are diagonals. All
cones are cubes.

All cubes  are

decagons. No diagonal is a
cube.

Conclusions:

|. Some diagonals are polygons. II. All
diagonals are decagons.

IIl. No polygon is a cone.

IV. Some cubes are angles.

4 1. Both conclusions | and Il follow
X 2. Both conclusions | and Il follow
X 3. Only conclusion | follows

X 4. Both conclusions Il and IV follow

balance the given equation.

42*7*64*11*6*4
X1+ +x

X2 x +G, 5 =

V340 % =

Kaxg+ 5=

Question ID 81616113020
Status Answered

Chosen Optiont

Q.6 Select the correct combination of mathematical signs that can sequentially replace the * signs and

Question ID 81616113935
Status Answered

Chosen Optiont
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Q.7 Four numbeipairs have been given, out of which three are alike in some manner and one is

different. Select the numbeipair that is different.

Ans & 1.14:210
X 2.18:342
¥ 3 17:307

X 4.12:156

Question ID 81616113932

Status Answered
Chosen Option3

Q.8 Select the number from among the given options that can replace the question mark (?) in the following series.

24,35, 51, 73,102, ?

Ans & 1.149

X 2,131
X 3.151
¥ 4130
Question ID 81616113829
Status Answered
Chosen Option4
vddp Ly I OSNIIFAY O2RS tl y3ddz3ST W wh!b5Q Aa O2RSR & WpPHMYHOMHMAT

that language?

Ans X 1.1612261920183
X 2.1612522021363

X 3.1812521920383

¥ 4.1612521920363

Question ID 81616113926

Status Answered

Chosen Option4
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Q.10 Select the option that is related to the third word in the same way as the second word is related to the first word.

Depression : Mood :: Insomnia : ?
Ans v d 1. Sleep
X 2. Thinking
X 3. Night

X 4. Dreams

Question ID 81616113822
Status Answered

Chosen Optiont

Q.11 Select the combination of letters that when sequentially placed in the blanks of the given series
will complete the series.
LUAZNAPLUP
ZAnsXK 1N, L, P, A N,
U,z
X 2.P,N/L Z UAN

X 3.P,LLU,Z NAN

V4 NP LUZNA

Question ID :81616113321

Status Answered

Chosen Option4
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Q.12

Ans

Select the figure from among the given options that can replace the question mark (?) in the following series.

® 2|

ﬁzl .

X a.

Question ID : 81616113836
Status : Not Answered

Chosen Option : ——
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Q.13 Select the correct option that indicates the arrangement of the given words in the order in which
they appear in an English dictionary.

. Freeze

. Freedom
Fryer

. Frozen

. Fraud

. Fringe

Ans  X1.56,2 1,4
3

o h WM R

X 2.521,6,3,4
X 3.51,26,4,3

450216453

Question ID 81616113819

Status Answered

Chosen Option4
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Q.14 Out of the total number of players, 100/3 &6e in hotel X and the remaining are in hotel Y. If 20
players from hotel Y are shifted to hotel X, then the number of players in hotel X

becomes 50% of the total number of players. If 20 players from hotel X are shifted to hotel
Y, then the number of plagrs in hotel X becomes what per cent of the total number of

players?

Ans & 1.20.67%
¥ 2 16.67%
X 3.26.34%K

4.12.75%

Q.15 Four letterclusters have been given, out of which three are alike in some manner and one is

different. Select the lettercluster that is different.
Ans & 1. TPLH

¥ 2 NIFA
X 3.CYUQ
X 4. FBXT

Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P

My70QFij|

Q

(TOOY v M

Q.16

N2V 0O0L]
(100 YV ¢ M,
NM2MXO00L!

Question ID 81616113330

Status Answered

Chosen Optiont

Question ID :
81616113820

Status Answered

Chosen Option2

Question ID 81616113335
Status Answered

Chosen Optiont
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Select the Venn diagram that best illustrates the relationship among the following classes.

Q.17 Women, Researchers, Introverts

Ans x 1.

A &ﬁe 5. made by folding the given sheet. In the cube so formed, what would be the symbol on the opposite side of the

# symbol?
&
@
% #I Question ID :
8 81616113034
+
— Status Answered
Chosen Option4
Q.18
Ans 1. S
X 2. +
3 &
2 %

Question ID 81616113939

Status Answered

Chosen Option3
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476

44 68

Q.19 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

15721

60

Ans & 1.19

Ans

X 2.20

X 3.18

4 04

Q.20 P, L, T, B, N and D are six members of a business family. N is the son of B, who is not the mother of N. L
is the brother of B. D and B are a married couple. T is the daughter of D, who is the sister of P.How is

N related to T?

Ans x 1. Sister
X2 Father
o4 3. Brother

X 4. Mother

Q.21 Select the lettecluster from among the given options that can replace the question mark (?) in the

following series.

PNNA, RPPE, TRRI, VTTO, ?

X 1. ywu
X 2. xwwu
¥ 3 xvwu

X 4. vyuuv

Question ID 81616113024
Status Answered

Chosen Option4

Question ID 81616113322

Status Not Answered

Chosen Option--

Question ID 81616113313

Status Answered

Chosen Option3
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Q.22 In a certain code language, 'PERMIT" is written as 'VVLNOG'. How will 'INERTIA' be written in that
language?

Ans & 1. XYOHBCU

+ 2 omyIzrRU

X 3. 0HYXZCU

X 4. XOYHCzU

Question ID 81616113016
Status Not Answered

Chosen Option--
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Q.1 Who among the following was elected as the President of Veterinary Council of India in January 2021?

Ans X1 Rajeev Arora
X 2. Dipankar Seth

4 3. Umesh Sharma

X 4. KK Verma

Question ID 81616113361
Status Not Answered

Chosen Option--

Q.2 Which of the following statements about Swami Dayanand Saraswati is INCORRECT? Ans

X 1. He authored the book 'Satyarth Prakash'.
X 2. He was the founder of Arya Samaj.

X 3.His birthplace was Gujarat.

+ 4. He was the founder of Brahmo Samaj.

Question ID 81616113957
Status Answered

Chosen Option4

Q.3 Who among the following had written Kitahl-Hind that gave an incisive description of early
11th Century India?

Ans X 1. ABukhari
X 2. Alkhwarizmi

+ 3. ABiruni

X 4. Aindi

Question ID 81616113050
Status Answered

Chosen Option3
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Q.4 Which of the following is the application of sciences such as physics, chemistry, biology, computer science
and engineering to matters of law and to the identification of various facts of civilian investigation?

Ans X1 Psychology
X2 Morphology

+ 3. Forensic science

X4, Kalology

Question ID 81616113039
Status Answered

Chosen Option3
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Q.5 As per the Union Budget of 2022, how many regional national institutes of virology will be set up?

Ans XL Six
X 2.Two

X 3.Three

4 4. Four

Question ID 81616113947
Status Not Answered

Chosen Option--

Q.6 In Leh, the first ever ice climbing festival was celebrated-in—alley in January 2021.
Ans ¥ 1. Nubra

X 2. Ripchar
X 3. Markha

X 4. Dras

Question 1D 81616113035
Status Answered

Chosen Optiont

Q.7 Which of the following places is famous for a copper
mine? Ans v d 1. Khetri

X 2. Keonjhar

X 3. Gaya

X 4. Satna

Question ID 81616113854
Status Answered

Chosen Optiont

Q.8 Who among the following was one of the founders of the Hindustan Republic

Association? An#< 1. Jatindranath Mukherjee

v d 2. Ram Prasad Bismil

X 3. Surya Sen

X 4. LalaLajpat Rai

Question ID 81616113352
Status Answered

Chosen Option2
____________________________________________________________________________________________________________________________________________________________________________|]
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Q.9 In which of the following years was the Planning Commission of India set

up? A 1.1962
X 2.1945

+ 3. 1950

X 4. 1958

Question ID 81616113357
Status Answered

Chosen Option3
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Q.10 Baghmara Pitcher Plant Sanctuary is located in which of the following

states? Ans X 1. Assam
X 2. Karnataka

X 3.Goa

o d 4. Meghalaya

Question ID 81616113348
Status Answered

Chosen Option4

Q.11 In December 202@he Ministry of Home Affairs declared the entire Stateof~ & | WRA & (i dz2Nb SR
FNBFQ F2NJ AAE Y2NB Y2y(dKa dzyRSNJ (KS ! N¥YSR C2NDSa o6{LISOALT t268
Ans X 1. Jharkhand

X2 Punjab

4 3. Nagaland

X 4. West Bengal

Question ID 81616113867
Status Answered

Chosen Option3

voOmMH 2K2 FY2y3a G(KS F2ftt26Ay3 62y (KS WoNR wloAYRNIYyFGK ¢ 32NB [Ad
¢KS {SIQ Ay 5S0SYOSNI HnunkK

Ans 4 1. Raj Kamal Jha
X 2. Shekhar Gupta
X 3.Siddhartha Sarma

X 4. Rajdeep Sardesai

Question ID 81616113355
Status Answered

Chosen Option3

Q.13 In which of the following years was the Second Round Table Conference in London
held? Ans ¥ 1 1931
X 2.1941
X 3.1939

X 4.1925

Question ID 81616113047
Status Answered

Chosen Optiont
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Q.14 Unique Transaction Reference number is-a—character code used to uniquely identify a transaction in the RTGS
system.

Ans & 1.34
X245
32
X417

Question ID 81616113340
Status Answered

Chosen Option4

Q.15 Who among the following is a Padma Vibhushan awardee of
2021? Ans ¢ 1. Sudarshan Sahoo
X 2. Tarlochan Singh
X 3. Mouma Das

X 4. Sumitra Mahajan

Question ID 81616113859
Status Not Answered

Chosen Option--

Q.16 Which of the following is NOT a town/city on the west coast of

India? Ans X1 Surat
o 2. Gopalpur
X 3. Karwar

X 4. Mangalore

Question ID 81616113953
Status Answered

Chosen Option2

Q.17 Which of the following is a process in which hot, less dense materials rise upward and are replaced
by colder, more dense materials?

Ans X 1. Condensation
X 2. Radiation

X 3. Conduction

o d 4. Convection

Question ID 81616113346
Status Answered

Chosen @tion : 1
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Q.18 Who among the following replaced Morarji Desai as the Prime Minister of India in

1979? Ans <1 Jagjivan Ram

4 2. Charan Singh
X 3. Chandrasekhar

X 4. DeviLal

Question ID 81616113962
Status Answered

Chosen Optiont

Q.19 Which of the following has the same dimension as that of linear

momentum? Ané" 1. Impulse
X 2. Work
X 3. Stress

X 4. Energy

Question ID 81616113848
Status Answered

Chosen Optiont

Q.20 Gurdwara Patalpuri Sahib is located on the bank of river.
Ans X1 Ganga

¥ 2 sutlej
X 3. Yamuna

X 4. Beas

Question ID 81616113945
Status Answered

Chosen Option4

voum 2Kz g2y GKS ¢z2e2dl

CKFAfIFYR hLISYy 22YSyQa
2021? Ans

{Ay3tSa ¢AlGtS Ay
X 1. Ashwini Ponnappa

o 2. Carolina Marin
X 3. Tai Tzgying

X 4.PV Sindhu

Question ID 81616113056

Status Answered

Chosen Option3
|
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internet services?

Ans & 1 PM-DHWANI
X 2. PM-INTERNET
& 3. PM-WANI

X 4. PM-VAARTA

Q.22 Which of the following schemes is aimed at helping accelerate the uptake of broadband

O +1 1D Q1C1C11:8€:

Status : Not Answered

Chosen Option : ——

Q.23

is the structural and functional unit of kidney.

Ans o 1. Nephron
X 2. Cortex
X 3. Ureter

X 4. Medulla

Q.24 Electron-voltis a unit of—.

Ans X 1. current
X 2. power
X 3. potential difference

1, 4. energy

Q.25 For which of the following franchise teams did AB de Villiers play in IPL

2020? Ans X 1 Delhi Capitals
' 2. Royal Challengers Bangalore
X 3. Kolkata Knight Riders

X 4. Mumbai Indians

Question ID : 81616113042

Status : Answered

Chosen Option : 1

Question ID : 81616113950
Status : Answered

Chosen Option : 3

Question ID : 81616113863
Status : Not Answered

Chosen Option : ——
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Section : Quantitative Aptitude

Ans

X

,(2.
x 3

4.

ol Ifx+y=4 andi+i=

1.

¥

18

19
21

-

16

g . then what is the value of (x3 + y3)?

Question ID : 81616113879

Status : Answered

Chosen Option : 2
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Q.2 If the 5-digit number 676xy is divisible by 3, 7 and 11, then what is the value of (3x — 5y)?
Ans 4 9 1.

o 11

5 10

4. 7

Question ID : 81616113969

Status : Not Answered

Chosen Option : ——
A ABC ~ A PQR . The areas of A ABC and A PQR are 64 cm? and 81 cm?, respectively and AD and PT are the
Q.3 medians of A ABC and A PQR, respectively. If PT = 10.8 cm, then AD =?

Ans 1. 9cm

12 em
2.

3. 84cm
« 9.6cm

Ouestion—tD
Question-1b-
Some fruits are bought at 15 for T140 and an equal number of fruits at 10 for T120. If all the fruits are sold at T132 per Status : Answered
dozen, then what is the profit percent in the entire transaction?

Chosen Option : 4
4.

Q.4

Ans

Question ID 81616113873

Status Answered

Chosen Option3
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Q5

Ans 1.

Question ID 81616114192
Status Answered

Chosen Option4
l_____________________________________________________________________________________________________________________________________|
Q.6

Ans 1.

3.

Question ID : 81616113982

Status Answered

Chosen Option3
-
Q.7

Ans 4

Question ID 81616113365

Status Answered

Chosen Optiont
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